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COST ACCOUNTING

ykxr ys[kkadu

Time : 2 Hours] [Max. Marks : 70

Note :– This paper is of Seventy (70) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. What is cost accounting ? Discuss briefly its objective

and advantages.

ykxr ys[kkadu D;k gS \ blds mís'; ,oa ykHkksa ij la{ksi esa ppkZ

dhft,A

2. Distinguish between job costing and contract costing.

State the special features of contract costing.

dk;Z ykxr vkSj Bsdk ykxr ds chp varj crkb,A Bsdk ykxr

fu/kkZj.k dh fo'ks"krk,¡ crkb,A

3. What do you understand by ABC Analysis ? What are

its advantages ?

,-ch-lh- fo'ys"k.k ls vki D;k le>rs gSa \ blds D;k ykHk gSa \
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4. From the books of account of M/s ZYX Enterprises,

the following details have been extracted for the year

ending March 31, 2023 :

Particulars Amount

(`)

Stock of materials :

Opening 1,88,000

Closing 2,00,000

Materials purchased during the year 8,32,000

Direct wages paid 2,38,400

Indirect wages 16,000

Salaries to administrative staff 40,000

Freight :

Inward 32,000

Outward 20,000

Sales 15,79,800

Cash discount allowed 14,000

Bad debts written off 18,800

Repairs of plant and machinery 42,400
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Rent, rates and taxes :

Factory 12,000

Office 6,400

Travelling expenses 12,400

Salesmen’s salaries and commissions 33,600

Depreciation written off :

Plant and Machinery 28,900

Furniture 2,400

Director’s fees 24,000

Electricity Charges (Factory) 48,000

Fuel (for boiler) 64,000

Sale of Scrap 500

General Charges 24,800

Manger’s Salary 48,000

The manager’s time is shared between the factory and

the office in the ratio of 20 : 80. From the above details

you are required to prepare a cost sheet to show :

(i) Prime cost

(ii) Factory cost

(iii) Cost of production

(iv) Total cost

(v) Profit
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esllZ ZYX ,aVjizkbtst ds [kkrs dh fdrkcksa ls] 31 ekpZ] 2023

dks lekIr gksus okys o"kZ ds fy, fuEufyf[kr fooj.k fudkys x,

gSa %

d (`)

lkexzh dk Hk.Mkj :

izkjfEHkd jgfr;k 1,88,000

vafre jgfr;k 2,00,000

o"kZ ds nkSjku [kjhnh xbZ lkexzh 8,32,000

izR;{k etnwjh Hkqxrku 2,38,400

vizR;{k etnwjh 16,000

iz'kkfud deZpkfj;ksa dk osru 40,000

ekyHkkM+k :

vkod 32,000

tkod 20,000

fcØh 15,79,800

udn NwV dh vuqefr 14,000

dk v'kks/; ½.k ekQ fd;k x;k 18,800

IykaV vkSj e'khujh dh ejEer 42,400

fdjk;k] njsa vkSj VSDl :

QSDVªh 12,000

dk;kZy; 6,400
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;k=k O;; 12,400

lsYleSu dk osru vkSj deh'ku 33,600

Îkl cês [kkrs esa :

la;a= ,oa e'khujh 28,900

QuhZpj 2,400

Mk;jsDVj dh Qhl 24,000

fctyh 'kqYd (dkj[kkuk) 48,000

b±/ku (ckW;yj ds fy, 64,000

jn~nh dh fcØh 500

lkekU; 'kqYd 24,800

eSustj dh lSyjh 48,000

izca/kd dk le; dkj[kkus vkSj dk;kZy; ds chp 20 : 80 ds

vuqikr esa lk>k fd;k tkrk gSA mijksDr fooj.k ls vkidks

fn[kkus ds fy, ,d ykxr i= rS;kj djuk gksxk %

(i) iz/kku ykxr

(ii) QSDVjh ykxr

(iii) mRiknu dh ykxr

(iv) dqy ykxr

(v) ykHk
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5. A product of a factory passes through three process A,

B and C. From the following particulars find out the

process wise cost for the month ending on 31st March,

2023 :

Processes

A B C

Materials 15,000 10,000 8,000

Wages 20,000 15,000 12,000

Direct Expenses 5,000 4,000 2,000

No. of Commodities Produces – 500

Provide for Indirect Expenses @10% of Prime cost of

each Process.

,d dkj[kkus esa mRikfnr oLrq rhu izfØ;kvksa ,] ch rFkk lh ls

gksdj xqtjrh gSA fuEukafdr fooj.k ls 31 ekpZ] 2023 dks

lekIr gksus okys ekg dh izfØ;k ykxr Kkr dhft, %

izfØ;k

A B C

lkexzh 15,000 10,000 8,000

etnwjh 20,000 15,000 12,000

izR;{k O;; 5,000 4,000 2,000

mRikfnr oLrqvksa dh la[;k – 500

vizR;{k O;; ds fy, izR;sd izfØ;k ds eq[; ifjO;; dk 10

izfr'kr izko/kku dhft,A
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Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. What is a cost sheet ? Explain the purpose served by it.

ykxr i= D;k gS \ blds eq[; mís'; dks Li"V dhft,A

2. Discuss the methods of ascertaining profit on the

following contracts :

(a) When contract is completed.

(b) When contract is not completed.

(c) When the contract is nearing completion.

fuEufyf[kr Bsdksa esa ykHk Kkr djus dh i¼fr;ksa dh foospuk

dhft, %

(v) tc Bsdk dk;Z iwjk gks tkrk gSA

(c) tc Bsdk dk;Z viw.kZ jgrk gSA

(l) tc Bsdk dk;Z iw.kZr% ds vfr fudV gksA
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3. Write a short note on operating cost.

ifjpkyu ykxr ij ,d laf{kIr fVIi.kh fyf[k,A

4. Distinguish between joint product and by-products.

la;qDr mRiknksa vkSj mi&mRiknksa ds chp varj Li"V dhft,A

5. Describe the general features of process costing.

izfØ;k ykxr dh lkekU; fo'ks"krkvksa dk o.kZu dhft,A

6. Define overheads. Explain various classification of

overheads.

mifjO;; dks ifjHkkf"kr dhft,A mifjO;; ds fofHkék oxhZdj.kksa

dh O;k[;k dhft,A

7. Explain the limitation of cost accounting.

ykxr ys[kkadu dh lhekvksa dks crkb,A

8. On manufacturing of 7000 units, direct wages cost are

` 22,000. For manufacturing additional 1000 units the

cost of wages increases 10% less than proportionally.

Find out the amount of direct wages for tender of 9000

units.

7000 bdkb;ksa ds fuekZ.k ij izR;{k etnwjh ` 22,000 yxrh gSA

izfr 1000 bdkb;ksa ds vfrfjDr mRiknu ij blesa vuqikr ls 10

izfr'kr de o`f¼ gksrh gSA 9000 bdkb;ksa dh fufonk ij izR;{k

etnwjh Kkr dhft,A

**************


